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Thinking of the XXX Sustainability Index, what does the ‘XXX’ represent?

A. CIPS

B. Corporate
C. Costed

D. Climate

Answer: A

Explanation:
The answer is 'CIPS'.
For a fee, CIPS will measure the extent of your organisation's commitment to the 3 P's.

What is the chemical formula for 'water vapour'?

A.H202
B. N20
C.H20
D. CO2

Answer: C

Explanation:
H20 - water (vapour) - a naturally-occurring greenhouse gas.

What is the chemical formula for nitrous oxide?

A. H20
B. NaCl
C.Co

D. N20

Answer: D
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Explanation:
N20 - nitrous oxide - a greenhouse gas.

‘XXX inclines can be used to move items from an upper floor to a lower floor’. What is XXX?
OVanity

A. Cavity

B. Gravity
C. Canopy
D. Capacity

Answer: B

Explanation:
Gravity.
(L3M6)

Which one of the following is typically insufficiently exploited in unskilled storage layout and de-sign?

A. Height
B. Breadth
C. Colour

Answer: A

Explanation:
Height - a reference to the necessity to fully use the cube of a space.
(L3M6)
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